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This question paper consists of 32 questions and 12 printed pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of
questions contained in the Question Paper are the same as those printed on the top
of the first page. Also check to see.that the questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 54/HIS/2, Set [A] on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you
can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English,

the responsibility for any errors/mistakes in understanding the questions will

be yours only.
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Time : 3 Hours | [ Maximum Marks : 100
a ;3 H0 | [ qUTiek : 100
Note : (i) All questions are compulsory.

(i) Marks allotted to each question are indicated against it.

(iij) Each question from Question Nos. 1 to 10 has four alternatives—(4), (B), (C)
and (D), out of which one is most appropriate. Select the correct answer
among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting
multiple-choice questions.

fewr: ()  &eft g1 o S s
(ii) UcIh T % A 36 i forg U |

(i) T FEAT 1 ¥ 10 G & YIH YW H AR fdhea—(F), (@), (1) q«n (9) g, S =
U I0YH 7| =R freredt § ¥ w9 I g Ao A0 IW-YfEdent § U T % 9 3w
o | ag-faeredt st o foru stfafes wwe =& foon stom)

1. The coefficient of correlation cannot be
(A) O
B 1

(C) greater than 1

(D) -1 1
HedsY TUTish

(F) O =& = ke

(@) 1 & & TR

(M) 1@ e T B Tk

(a) =T 72f =l gl
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2. Central problems arise
(A) only in underdeveloped economies
(B) only in mixed economies

(C) only in developing economies

(D) in all economies 1
(%) had Tcufaskiad Adeaearst &

(@) et fufsa srdfeeensn A
(1) et foemmoefia steferacanet |
(7)) @l srefereenstt |

3. Demand curve of a commodity shifts to the left when
(A) its price rises
(B) its price falls
(C) price of substitute goods falls

(D) price of complementary goods falls 1

g 1 W g Sl TR RaweRar 7, e
(%) T@eh! hiHd wedl @

(@) 3ol FHHa Tedt 2

() ufoeeme Seqett i fimd Ted 2
() e a&ge H FmHd Tedt @

4. As output is increased, the difference between average total cost and average
variable cost

(A) decreases
(B) increases

(C) remains constant

(D) Tirst increases and then decreases 1
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SH-ST8 ITATEH ST ST 7, 3719d el drTd IR 3fed Iierd! anTd 1 1=
(%) wedr 2

(@) e

() foRr wa ?

(7) W Sedr g TR =edl §

5. Which of the following can have a negative value?
(A) Marginal physical product
(B) Average physical product
(C) Total physical product
(D) None of the above 1

ffafga § @ frdeRT goa o &1 Thal &7
(%) dmma «ifdes 3care
(@) ofta Jifds I
(1) F +fifdes Ieame
(7) S ¥ PR A

6. Average revenue and marginal-revenue are always equal under
(A) perfect competition
(B) monopoly
(C) monopolistic competition

(D) all forms of market 1

aftga S SR W T wed SUe 2id @
(%) qoi ufeenfiar &

(@) uHfeER

(1) IR gfaenfar J

G I A IS
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7. Compensation of employees does not include
(A) bonus
(B) employer’s contribution to social security
(C) gifts
(D) free accommodation 1
FHHATAT o ITCAT § M el R S @
(&) =™
(@) R & g gean & fow Jmee
(1) 3R
(@) fyges @™

8. Which of the following is a factor income?

(A) Taxes

(B) Fines

(C) Profits

(D) Donations 1

Frfafaa @ 9 FF-d @rem g 3¢
(F) =+

(@)

() ™

(%) =d

9. Change in bank rate is made by
(A) Central Bank
(B) Government

(C) Commercial Banks

(D) Prime Minister 1
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e | qiEA R ST @
(%) HE= 9% g

(@) @HR g

() oo SR g’
(F)  vuHEE g’

10. Which of the following is not a function of money?
(A) Medium of exchange
(B) Control rising prices
(C) Store of value

(D) Measure of value 1
fafafea 9 @ ®9-w1 g0 =1 ®=@ T 27

() Tafvma =1 a@rem

(@) wgerhifa @ e

(1) H

() HcI H HUSR

11. Explain any three main properties of arithmetic mean. 3

iU At R foredi o fawarett i s fifsg)

12. Describe the problem of ‘how to produce’. 3
Y I L T AR I AU IS

13. Give the meanings of micro- and macro-economics. 3

Y- X gAfE-3rdemE & 37 FqrEu|

14. State the law of demand and its two exceptions. 3

AT T T ST 38 ar STudTe Sded]
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15. State any three properties of indifference curve. 3

SAHE gk HE i foRimard sy

16. Explain the effect of improvement in the technology of production of a
commodity on its supply. 3

T & I ICATE qohAIeh H AR i IHh! AR W IAE 3 =T i

17. At a price of ¥ 10 per unit the demand of a commodity is 200 units. Its price
elasticity of demand is (-)1-5. At what price will the demand be 250 units? 3

¢ 10 ufd g Fma | F T%G H AT 200 ITHRE 2| 3EH KT H FHHT A ()15 B
fope hHa W 3Eeh |IT 250 g B

18. Distinguish between real and nominal gross domesticproducts. 3

aredfae 3R Hifssh Thal el e H 9e i |

19. Calculate consumption expenditure from the following data : 3
Income 3000
Marginal propensity to consume 0-8
Autonomous consumption 200

Freafafiaa stierst @ 3udm = 1 aftsee Fifv

IR 3000
Hmra 39dm Taf 0-8
e (fer) 3gam 200

20. Which of the following can have a negative value? Give reasons for your answers : 3

(a) Average propensity to save
(b) Marginal propensity to save

Frefafaa & & foraer goa RUMeHs & dehal 27 AT IW o forg wRer i
(%) ofEd s gt

(@) dmT o= Jgi
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21. Calculate arithmetic mean from the following data : 4

fafafga et @ fefuda e @ afiere Aifsu -

Class Frequency
EL| gt
0-20 10
20-40 12
40-60 8
60-80 10

22. Explain the effect of change in the price of related goods on the demand of a
Giffen goods. 4

i et it wim W gefad aegsti it fima § 1 gfedd, -9 Sl =men fif |

23. Complete the following table : 4
ffafaa arferert 1 90 HFT -

Output (units) Marginal Product Average Product

3euTeA (FhTEAT) HaTea Ieute A 3eUTg
1 0
2 8
3 6
4 4

24. Explain four main precautions that should be taken while estimating national
income by expenditure method. 4

= fafy g T o i T ° St ST aTel! IR ged aadrE i @men fifs

25. Explain any two determinants of propensity to consume. 4

YA UG Tohral aT (TehT bl AT Sl T
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26. How does the central bank use legal reserve ratio in controlling credit creation?
Explain. 4

g fmin # fEfba w9 % fau &= 5% Jafe Fm sgaa w1 T R R
AT 27 FHIEY)

27. Explain the following characteristics of perfect competition : 6
() Homogeneous product

(b) Free entry and exit

i gfeenfirar i frafafea forvand aweme -
(%) WHET IS
(@) a9 quT ST sl T

28. Distinguish between the following:: 6
(a) Explicit costs and implicit costs

(b)  Private costs and social costs

Freafaftaa @ 9 fifvm -
(%) TP AN AR Aaffed amd
(@) fsht @mrd iR gmrfses amrd

29. Explain any three main objectives of budgetary policy. 6

TSI T o foheal T T 3ewal ol SaTEaT o]
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30. From the following data, calculate the coefficient of correlation between
advertising expenditure (X ) and profit (Y) : 6
ffafga sl @ fogmm =@ (X)) 3R &9 (Y) % Wed dggeY e ol Tiehed
EAIE L.

Advertising Exp. Profit
fomam W= Ik
(X) (Y)
No. of items 8 8
el shi T
Arithmetic mean X =168 Y =169
ST AT
Standard deviation ox = 9 oy = 11
e T 2 2
> XY =24

31. From the following data, compute Paasche’s Price Index Number for the current
year : 6

frfafaa el ¥ adum ad & fTe.9m® % qoF gaeie i TUET I

Base Year Current Year
Item SR T9 TfeTd a9
Rk Price Quantity Price Quantity
Hed HTAT T HTAT
A 2 12 10 16
B 4 14 8 14
C 6 16 6 12
D 8 18 4 10
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32. Calculate gross domestic product at market price from the following data : 6

¢ (in crore)

(i) Compensation of employees 1,000
(ii) Bonus 100
(iii) Profit 500
(iv) Rent 200
(v) Net factor income from abroad (-) 50
(vi) Dividend 80
(vii) Depreciation 60
(viii) Net indirect taxes 70
(ix) Mixed income of self-employed 4,000
(x) Net exports 40
(xi) Interest 90
Fefafiad sAfersl ¥ 9N god T Gohal BXe] 3cd1@ ol IR ity -

¢ (wTet 7)

(i) U= T uTiefien 1,000
(i) &= 100
(i) <™ 500
(iv) et 200
() Toge @ fae @em o () 50
(vi) T 80
(i) Teramae 60
(iii) Faa I W 70
(ix) Tt &t o 4,000
(x) THaa =t 40
(xi) =S 90

* kK
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